( : D
L Trigonometry )

Name: Date:

Find all the three primary trigonometric ratios.

1) LA 2) LC
A A
sin A = sinC=
13 COs A= 55 cosC=
12 33
tan A = tanC =
B 5 C B 44 C
3) /D )y
D X
sinD = sinY =
51 cosD = 29 cosY=
24 20
tan D = tanY =
E 45 F Z 21 Y
5 /17 6) /B
Y B
sinZ = sin B =
J10 CosZ = 41 cos B =
1 10 40
tan Z = tan B =
X 3 Z A 9 C
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( : D
L Trigonometry )

Name: Date:

Find all the three primary trigonometric ratios.

1) LA 2) LC
A 5 A 3
sin A= 13 sin C = 5
12 4
" 13 cos A= 13 23 55 cos C = 5
5 3
tan A = 12 tan C = 4
B 5 C B 44 C
3) /D )y
D 15 X 20
sinD = 17 sinY = 29
8 21
” 51 cosD = 17 20 29 cosY = 29
15 20
tan D = g tanyY = 21
E 45 F Z 21 Y
5 /17 6) /B
1 9
Y B -
sinZ= 10 sin B = 41
3 40
. NET) CoSZ = 10 20 41 cos B = 41
1
tanZ = 3 tan B = 40
X 3 yA A 9 C
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